Exercise 6A

SOLUTIONS 1

Answer :

Writing the terms of the given expressions (in the same order) in the form of rows with like terms below
each other and adding column-wise, we get

Sab
5ab
Jab
- ab

Hab
SOLUTIONS 2

Answer :

Writing the terms of the given expressions (in the same order) in the form of rows with like terms below
each other and adding column-wise, we get

(E
3z
bz
-z
2z

6z
SOLUTIONS 3

Answer :

Writing the terms of the given expressions (in the same order) in the form of rows with like terms below
each other and adding column-wise, we get

da — 4b + 4c
2a + 3b — 8¢
a— 6b+ ¢
6a — 76— 3¢

SOLUTIONS 4




Answer :

Writing the terms of the given expressions (in the same order) in the form of rows with like terms below
each other and adding column-wise, we get:

5z — 8y + 2z
— 2z —4y+ 32
-z+6y— 2
3z —-3y—2z
5z -9y + 2z

SOLUTIONS 5

Answer:

Writing the terms of the given expressions (in the same order) in the form of rows with like terms below
each other and adding column-wise, we get.

bazx — 2by + ez
—1laz + 6by — cz
— 2azx — 3by + 10cz
— Taz + by+12cz

SOLUTIONS 6

Answer :

On arranging the terms of the given expressions in the descending powers of  and adding column-
wise:

22% - 0z + 0z +8
0z + 322 — 6z—5
723+ 022 - 10z + 1
—4z% - 522+ 2z +3
5z — 1122 - 142+ 7
SOLUTIONS 7




Answer :

Writing the terms of the given expressions (in the same order) in the form of rows with like terms below
each other and adding column-wise

6p+ 4¢ — r+3
~6p+ Og+2r—6
~Tp+11g+2r-1
Op+ 2q—3r+4
~6p+17¢+0r+0
= —6p+17¢q

SOLUTIONS 8

Answer :

On arranging the terms of the given expressions in the descending powers of £ and adding column-
wise:

4z2 + 4y - Tzy -3
z? + 6y’ —8zy +0
272 — 5y% — 2zy + 6
722 + 5y° — 1Tzy + 3

SOLUTIONS 9

Answer:

On arranging the terms of the given expressions in the descending powers of T and subtracting.

—5a’b
3a’b

— 8a’b
SOLUTIONS 10




Answer :

Writing the terms of the given expressions (in the same order) in the form of rows with like terms below
each other and subtracting column-wise:

bpg
. qu
+

14pq
SOLUTIONS 11

Answer :

Writing the terms of the given expressions (in the same order) in the form of rows with like terms below
each other and subtracting column-wise:

— Babe

— 2abe
_+r
— Gabe

SOLUTIONS 12

Answer :

Writing the terms of the given expressions (in the same order) in the form of rows with like terms below
each other and subtracting column-wise:

—11p

— 16p
L S

.
SOLUTIONS 13

Answer :

Writing the terms of the given expressions (in the same order) in the form of rows with like terms below
each other and subtracting column-wise

3a—4b— ¢ +6
2a —5b+2c—-9
- + - +

a+ b—3c+15




SOLUTIONS 14
Answer :

Writing the terms of the given expressions (in the same order) in the form of rows with like terms below
each other and subtracting column-wise:

p—2—5r—8
—6p+ q+3r+
.+. — — -

p—3q— 8r — 16
SOLUTIONS 15

Answer :

On arranging the terms of the given expressions in the descending powers of z and
subtracting column-wise

32 —z2 422 -4
z3+3z22 -5z +4
=N — + —

923 — 422 + Tz — 8
SOLUTIONS 16

Answer:

Arranging the terms of the given expressions in the descending powers of £ and subtracting column-
wise

49 -2y -6y —y+5
5 -3+ 2 +y—1
— + =

- i

v+ - 82 —29+6
SOLUTIONS 17




Answer :

Writing the terms of the given expressions (in the same order) in the form of rows with like terms below
each other and subtracting column-wise:

3 — 47 51 — 6
4 +5¢° —6r* +7
- - _i._ —

—p - 0g* 41713
SOLUTIONS 18

Answer :

Let the required number be x
(3«;2 - Gab — 3b” - 1) -z = 4a® — Tab — 40" + 1

(3a?—ﬁab--3b2—1)— (432 —-Tab—flb’+1) —z

3a? — 6ab — 3b* — 1
4a® — Tab —4b* + 1

a’+ ab+ b -2

« Required number = —a? + ab+ b* — 2
SOLUTIONS 19




Answer :

Sides of the rectangle are [ and b
l =522 - 3y°

b=2z?+2zy
Perimeter of the rectangle is (21 + 2b).

Perimeter — 2| 52% - 3y° | + 2| 2% + 2zy

= 10z? — 6y* + 2z* + 4zy
10z* — 6y°
2r2 + 4zy
12z? — 6y° + 4zy
Hence, the perimeter of the rectangle is 12z* — 6y° + 4zy.

SOLUTIONS 20

Answer :

Let @, b and ¢ be the three sides of the triangle.
= Perimeter of the triangle =(a + b+ ¢)

Given perimeter of the triangle = 6p® — 4p+ 9

One side (@) =p* —2p+1

Other side (b) = 3p*> — 5p+ 3

Perimeter = (a + b+ ¢)

(6 —4p+9) = (p* —2p+1) +(3p° - 5p+3) +c
6 —4p+9-p*+2p-1-3p° +5p—-3=c

(6p° —p* —3p%) + (—4p+2p+5p) +(9-1-3) =¢
2 +3p+5 = ¢

Thus, the third side is 2p® + 3p+ 5.



Exercise 6B

SOLUTIONS 1
Answer :

By horizontal method

(5z +7) x (3 +4)
5z(3z +4) + 7(3z +4)
152° 4 20z + 21z + 28
1522 + 41z + 28

SOLUTIONS 2

Answer:

By horizontal method

(41: } ‘J) X (..": 6)

= 41(1‘ 6) } O(x 6)
4z? — 24z + 9z — 54
4z? — 15z — 54

SOLUTIONS 3

Answer:

By horizontal method

(2: t5) x (4z — 3)
-2z(4z — 3) + 5(4z - 3)

— 822 — 6z + 20z — 15
=822 + 14z — 15

SOLUTIONS 4
Answer :

By horizontal method:
(3y—8) x (5y—1)
=3y(5y—1) —8(5y—1)

=15y — 3y — 40y + 8
=15y°> — 43y + 8




SOLUTIONS 5
Answer :
By’ horizontal method
(7z + 2y) x (z + 4y)
Tx(z + 4y) + 2y(z + 4y)

— Tz + 28zy + 2zy + 8y*
= Tx? + 30zy + 8y*

SOLUTIONS 6

Answer :

By horizontal method

(92 + 5y) x (4z + 3y)
Oz (4z + 3y) + 5y(4z + 3y)
— 3622 + 27zy + 20zy + 154°
— 3622 + 47zy + 15¢°
SOLUTIONS 7

Answer :

By horizontal method

(3m — 4n) x (2m — 3n)

= 3m(2m — 3n) — 4n(2m — 3n)

— 6m* — 9mn — 8mn + 12n°
— 6m? — 17mn + 12n?

SOLUTIONS 8
Answer :

By horizontal method

(z? —a?) x (z—a)
—z*(x —a) —a*(z —a)

z® —az® — o’z +ad®
ie (z*+a’) —az(z —a)




SOLUTIONS 9
Answer :
By horizontal method
(@ —v") x (z +2y)
=z (z +2y) — v’ (z + 2)

=z 4+ 22%y — zy® - 2°
i.e(z® —2v°) + zy(2z - y)

SOLUTIONS 10
Answer:
By horizontal method
(39" +¢%) x (20" - 3¢)
W (2 - 3°) +¢* (2 - %0°)
6p* - 9p%¢* + 2p°¢* - 3¢*
i.ebp' — 7p'q* — 3¢°

SOLUTIONS 11
Answer:
By horizontal method:
(22 - 5¢°) x (z* + 3p?)
- 22% (2% + 3y?) — 5% (2? + 3?)

= 2z% + 62%y® — bz*y* — 159*
2z + z%y* — 15¢°

SOLUTIONS 12




Answer:

By horizontal method

(=° —v') x (2" +v°)
=2}z + ) - (s +9?)
— 25+ 2% — 2 — o
=(z° - 9*) +2*(z—9)
SOLUTIONS 13

Answer :

By horizontal method:
(z* +9') x (z* —¥’)
- 34(12 yz) " y‘(:2 __yz)
2 — 2y vyt
- (:z:“ yo) —ay? (1.2 _ yz)
SOLUTIONS 14

Answer :

By horizontal method:

(m‘ t -:—4) x (;, + i)
:z‘(z " 1) +d (,, " _;)

el 303

SOLUTIONS 15

T B
=t

’Ll—-

Answer :

By horizontal method

(12 —31:+7) X (2:|:+3)
=2z(z2-3z+7) +3(z* -3z +7)
= 2z — 6z* + 14z + 3z* — 9z + 21
=223 - 322 4+ 5z +21




SOLUTIONS 16

Answer :

By horizontal method

(3z* + 5z — 9) x (3z - 5)
3z(3z* + 5z - 9) — 5(3z* + 52— 9)
0z + 162* — 27z — 152% — 25z + 45
0z® — 52z + 45

SOLUTIONS 17

Answer:

By horizontal method:
(2* —zy+9*) x (z +y)
z(z* —zy+y°) +y(a® — 2y +v°)
2 - 2y+ v’z + 2’y -z’ +y°
2 +y

SOLUTIONS 18

Answer :

By horizontal method

(* +zy+y°) x (z —y)

z(z* +zy+v*) —y(z* +zy +v7)
z* 4 ny t xy2 x:’y xy2 y:
{1?3 yll

SOLUTIONS 19

Answer :
By horizontal method
(z* —22% +5) x (42 1)
4z(z® — 222 + 5) — 1(z® — 222 + 5)

=4z% — 823 4+ 20z — 2 + 222 -5
—4z* — 023 + 222 + 20z -5

SOLUTIONS 20




Answer :

By horizontal method

(922 —z +15) x (z® - 3)

=z*(9z® —z +15) — 3(92* — z + 15)
=0z — 23+ 1522 - 2722 + 3z - 45
=0z — 23 - 1222 4+ 3z - 45

SOLUTIONS 21

Answer :

By horizontal method:

(zz —5:z:+8) X (::2 + 2)

= z*(z* — 5z + 8) + 2(z*® — 5z + 8)

=z% — 523 + 822 + 222 — 102 + 16

=gz — 52% + 1022 — 10z + 16
SOLUTIONS 22

Answer :

By horizontal method

(z* — 522 +3z+1) x (- 3)
=z?(z® - 522 + 3z +1) - 3(2* - 622 + 3z +1)
=25 —524 +328 +22 - 323 + 1522 - 02 -3
=25 -5z + 1622 -9z -3

SOLUTIONS 23

Answer :

By horizontal method:

(Bz+2y-4)x(z-y+2)
z(3z+2y—4) —y(3z+2y—4) +2(3z + 2y 4)

=3z + 22y — 4z — 3zy— 2 + 4y + 6z +4y—8
=322 -2 —zy+22+8y—8

SOLUTIONS 24




Answer:

By horizontal method

(z? —5z+8) x (22 +2z - 3)
= z?(z? — 6z + 8) + 2z(z? — 5z + 8) — 3(z? — 5z + 8)
= z% — 52 + 822 + 22% — 1022 + 16z — 322 + 152 — 24
=4 -32% - 622 + 31z -4

SOLUTIONS 25

Answer :

By horizontal method:

(222 + 3z — 7) x (32% — 5z +4)

= 2x%(3z* — 5z +4) + 3z(3z? — 5z +4) — 7(3z* - 5z + 4)
— 6z — 10z® + 822 + 9z* — 15622 + 12z — 2122 + 35z — 28
=6z% — 23 — 2822 + 47z — 28

SOLUTIONS 26
Answer:
By horizontal method
(922 —z +15) x (z? —z—1)
=z*(9z2 —z +15) — 2(9z? —z + 15) — 1(9z% —z + 15)

=0z% — 23 + 1522 - 923 + 22 — 152 - 922 + z - 15
— 0z —10z® + 722 — 14z - 15




Exercise 6C

SOLUTIONS 1

Answer:
(1) 24x3y3 by 3xy

24z'y’

dry
-(F)E@ e

= 8zy°.

Therefore, the quotient is 8xy?
(i) 36xyz? by -9xz

3ozyz’
ir:

» (%)@ e e

> —4yz

Therefore, the quotient is -4yz




(iif)
~-722%y° 2 by — 12zy2
722y’ 2
12ry=
= (3)@ e E )

= bxy

Therefore, the quotient is 6xy.

(iv) -56mnp? by 7Tmnp

56mnp”

Tmnp

() )

= —8p

Therefore, the quotient is -8p.

SOLUTIONS 2

Answer :

(i) 5m3 - 30m? + 45m by 5m

(Emr1 —30m? + 45m) + 5m

= m 5m+5m

=>m’ —6m + 0
Therefore, the quotient is m? - 6m +9

(i) 8x2y2 - 6xy? + 10x2y° by 2xy

(8::21;2 ~ 6zy® + 10:1:31;’) + 2xy

Bliv! m‘! lOz'w’

2ry 2ry 2ry
= 4zy — 3y + 5zy°

Therefore, the quotient is 4xy - 3y + Sxy2.




(iii) 9%%y - 6xy + 12xy2 by - 3xy

(9323; — bzy + 121‘y2) + —3zy
9r'y txy 12ry*

¥ Sz T 3w T Tm

= —3z + 2 —4y

Therefore, the quotient is -3x + 2 - 4y.

(iv) 12x* + 8x3 - 6x2 by - 2x2

(12:‘ + 82° — 6‘:’)% — 227 24x+3?

1224 B’ iz
i e R

= -8z

Therefore the quotient is -6x2 - 4x + 3

SOLUTIONS 3

Answer :

(*—4x+4)+(x-2)

X Zi_r1_4,r+4 ‘1 2

x2-2x
- +
2x+4
-2x+4
+ i
x

Therefore, the quotient is (z — 2) and the remainder is 0.

SOLUTIONS 4




Answer:

.ti-Zi_r2_4 ix—2

X + 2x

~2x-4

-2x—4

-+ .
b

Therefore, the quotient is £-2 and the remainder is 0

SOLUTIONS 5

Answer :

(X2 +12x +35) by (x + 7)

x+?).r-’+|zr+35(r+5

x*+ Ix
Sx+35

Sx + 35

x
Therefore, the quotient is (z + 5) and the remainder is 0

SOLUTIONS 6

Answer :

Ix+2Y15x*+ x-6(5x-3
15x° + 10x
~Ox -0
9y -6
+ 4
x

Therefore, the quotient is (5 — 3) and the remainder is 0

SOLUTIONS 7




Answer :

76-9) 142 - s3x + 45 (20~ S
14" — 18x

—35x +45
~ 35y + 45

x

Therefore, the quotient is (2z — 5) and the remainder is 0

SOLUTIONS 8

Answer:

2 - 5) 632 — 31x + 47 (s.r =5
6x° — 15x

~ 16x +47
‘ 16x + 40

7

Therefore, the quotient is (3z — 8) and the remainder is 7

SOLUTIONS 9

Answer :

2 +3)za+ PBind (x-‘—x—l
2x 4+ 3

- 2x* - 5x
2~ Sx
} }
-2¢ -2
-2x-3
+  +
|

Therefore, the quotient is (% — z — 1) and the remainder s 1

SOLUTIONS 10




Therefore, the quotient is Z2-x+1 and the remainder is 0
SOLUTIONS 11

Answer :

Xyt I) -2+ 2 +x + 4 (.t':— x+4

*+ ¥+ X

- 3.‘.1 + “.: +X
— 3¢} — 3x? - 3x
+ o+ +

4> +4x+ 4
J 457 + 4y + 4

x

Therefore, the quotient is ( x2 - 3x + 4) and remainder is 0

SOLUTIONS 12

Answer:
=5+ 6) o6+ 1lx-6 (.r— 1
X' =557 + 6x
. ¢ .
-1 +5x-6
-1x2+5x-6
x

Therefore, the quotient is (x-1) and the remainder is 0

SOLUTIONS 13




Answer :

x*=3x+ 4) Sxt - 12 4+ 12x + 13 (S.t +3
x*— 15x2 + 20x

3 - 8x+13

IV-9x+12
- T wa

x4

Therefore, the quotient is ( 5x+ 3) and the remainder is (x + 1)

SOLUTIONS 14

Answer :

2 3-¥+5) 20 -5x*+8x-5 (x 1

2x* — 3x* + S5x

. { .
-2+ 3x-5
-2+ 3x-5
-

x

Therefore, the quotient is (x-1) and the remainder is 0.

SOLUTIONS 15

Answer :

22+ x - I) 8xt + 100" — Sx? — 4y + 1(4.\3 +3x-2
8+ 4! : 4x°

6’ — X7 —dx + ]
6x* + 3x% - 3x
+

-4~ x+1

—4x% -2+ 2
+ +

.'lf—i

Therefore, the quotient is ( 4x2+ 3x -2) and the remainder is ( x-1)




Exercise 6D

SOLUTIONS 1

Answer :

(i) We have

(:1: { 6) (-.t { 6)

(x ¢ 6)2

22+ 62 +2xz x6 [using (a+b)2 a? + b +-2ab]
— 22 436+ 12z

(if) We have

(43 t 53)) (4:: f Sy)
(4x f5y)2

(4z)* + (5y)* + 2 x 4z x 5y [using (a +b)h a2+ b+ Qab]
1622 4 25_1;2 t 40zy




(iii) We have:
(7a r Qb) ('m + Qb)

= (7n + Qb)2
= (7a)® + (95)* +2 x 7a x 9b
= 40a? + 81b° + 126ab

(Iv) We have:
2 4 2 4
(32 + gy) (3$+ gy)

2
(oot

2 2
:(-g-z) +(-§y) +2x3zx 3y

_4.2,16 10
=3z +25y2+15:ry

(v) We have:

(z2 + 7) (::2 + 7)
= (z2 + 7)2

= (=)’ + 7P +2x2? x7
=z + 49 + 142*

(vi) We have:
(%a’+2)(§a"’+2)

= (%a’+2)2

= (%32)2+(2)2+2x%02x2

_ 25,4 4 10 2
=550 +4+3a

[usmg (a+ 5)2 —a? 4 b +2ab]

[using (a+b)2 —a? 4 ¥ +2ab]

[uslng (a+b)2 = g2 +b2+2ab]

2

[uslng (a+b) =a2+b=’-+2ab]




SOLUTIONS 2

Answer:

(i) We have:

(o)
= (=-4)

z? -8z + 16

(i) We have

(23: — 3y) (22: - 3y)

= (2:: - 33.,;)2

= (2z)* — 2 x 2z x 3y + (3y)*
= 4z% — 12zy+ 9y?

(iif) We have:

3 5 3 5
(;I— Ey) (:I— Ey)
2
3 5
. (:” ay)

[using (a -::)2 a? — 2ab+ b'*’]

[using (a b)2 —a® — 2ab + b’




1) ket 1)

2 15

6T 123"9*' y

(iv) We have:

e )62)

(=-2)
=(z)2—2xzxg+(;)’
—2? -6+

(v) We have

(422 -9) (422 -9)
(3=-9)

(322) —2xia?x0+ ()

= 324 — 6z + 81

1.2
3.’!?

(vi) We have
1.2__ 1 Lage ¥
(Ey :I!I")(Z""‘I 3y)
2
_(2!’ —gy)
1.2 2 2 1 1 2
(i) 2w ()

2
SRt LR s
SOLUTIONS 3

2

[nslng (a —b)2 —a? — %b+ ,,z]

e o) 011

[using (m—b)2 —a? _2,1;,”,2]

2

o o)




Answer :

We shall use the identities (a+b)? =a® +b2 +2ab and (a-b)? =a® +b? -2ab

(i) We have:
2
(&: + 3b)
— (8a)® +2 x 8a x 3b+ (3b)*
— 64a’ + 48ab + Ob°
(i)We have:
-
(7:: + 2y)

= (7z)® + 2 x Tz x 2y + (2v)°
— 49z + 28zy + 4y°

(iii) We have :
2
(5:: +11)

= (52)® + 2 x 5z x 11+ (11)®
= 25z% + 110z + 121
(iv) We have:
33

2 a
:(%)2+2xgx§+(§)2
=242+

v, ]
a’

(v) We have:

(vi) We have

(92 - 10)2

(9z)* — 2 x 9z x 10 + (10)*
= 81z* — 180z + 100




(vii) We have:

(v

(zzy)i, —2x 22y xy2? + (yz:")2
— zhy? — 922252 4 y22

(vili) We have
z v\
Yy =z
2 2
Y v
=) 2 (3)

! v’
(ix) We have:

4 \?
3m— —
5%
2
~ (3m)* 2x3mx%n+(%n)

_ 2 _ 24mn , 16 2
— Om 5 +25n

SOLUTIONS 4

Answer:

() We have

(:: + 3) (:J: - 3)

—z? -0 [using (a-+b)(a—b) = a® -~ ¥']
(ii) We have:

(22+5) (22 -5)

—4z% - 25 [uslng (a+b)(a-b) =n2~b2]
(liif) We have:

(8+z) (8—3)

— 64— 2° [using (a+b)(a—b):a2—62]




(iv) We have

(7x + lly) (7:: =i 1y)

— 40z — 1213°

(v) We have

|using (a+5) (a—b) = a® -~ ¥]

(5::2 } %yi’) (532 %y“’)

(viii) We have:

(9 -3)

:zil v?

(ix) We have

(e i)

—Adn2 _ 2
= 4q 7

SOLUTIONS 5

[using (a+) (ab) ~a - ¥']

o )39

[using (a+6) (a—b) ~a? —¥’]

[using (a+b)(a—b) ~a® ]

[usmg (a+b)(a—b)=a- 52]




Answer :

We shall use the identity (a+b)? =a? +b? +2ab.

(i)
(54)°

= (s0+ 4)2

= (50)* + 2 x 50 x 4+ (4)*
= 2500 + 400 + 16
= 2016

(i)
(82)*

= (30 + 2)2

= (80)* +2 x 80 x 2+ (2)*
6400 + 320 + 4
— 6724
(iii)
(103)*
2
- (100 ¥ 3)
= (100)* 42 x 100 x 3 + (3)*

= 10000 + 600 + 9
= 10609

(iv)
(704)°
2
= (700 + 4)
= (700)? +2 x 700 x 4 + (4)?

= 490000 + 5600 + 16
= 495616

SOLUTIONS 6




Answer :

We shall use the identity (a-b)? = a2 +b? -2ab.

()
(69)

(70 1)2

=(70)> —2xT0x1+1
— 4900 — 140 + 1
— 4761

Il

(ii)
(78)*

= (s0- 2)2

= (80)> —2x80x2+4

= 6400 — 320 + 4
= 6084

(iil)
(197)*

= (200 - 3)2

—(200)* -2 x200x3+9
= 40000 — 1200 + 9
— 38800

(V)
(999)°

= (1000 1)2

= (1000)* —2 x 1000 x 1 +1
= 1000000 — 2000 + 1
— 008001

SOLUTIONS 7




Answer :

We shall use the identity (a-b) (a+b)=a® - b*.

(i

(82)* — (18)°

— (82 — 18)(82 + 18)
- (64)(100)

— 6400

(it

(128)* — (72)*

= (128 — 72)(128 + 72)
= (56)(200)

~ 11200

(iif)
197 x 203

- (200 - 3) (200 i 3)
= (200)° - (3)*

= 40000 -9
= 399901




(iv)
198 x 198 102x102

00
~ (198)" (102)’
= 96

(198 102) (198 + 102)

== 9
_ (96)(300)
= 06
= 300

(v)
(14.7 x 15.3)

= (15—0.3) x (15+0.3)
= (15)" - (0.3)

— 225 —0.09

—924.01

(vi)
(8.63)* — (1.37)*

= (8.63 — 1.37)(8.63 + 1.37)
= (7.26)(10)

—72.6

SOLUTIONS 8

Answer :

(92* + 24z + 16)

Given, z = 12

= (32)* + 2(32)(4) + (4)
= (3z + 4)°

= (3(12) +4)*

= (36 + 4)°

= (40)* = 1600

Therefore, the value of the expression (9x2 + 24x + 16), when x = 12, is 1600.

SOLUTIONS 9




Answer:

(64z? + 81y + 144zy)

Given :

=11

y=3

= (8z)" + (9)° + 2(8z)(%)
= (8z +9y)*

+ (s(u) +9(2))’
5> (88 +12)°

= (100)*
= 10000

o
Therefore, the value of the expression (64x% + 81y% + 144xy), whenx =11 and y = %, is 10000.

SOLUTIONS 10
Answer :

(362 + 25y* — 60zy)

2 1
?.*}if«i,yr

(6z)" + (511)52 - 2(6z)(5y)
= (6z — 5y)’
() -5(0)
=(4 - 1)?
= (3)°
=0

SOLUTIONS 11




Answer:

(i) (:: } %) = 4

Squaring both the sides:

s (;; } _;)2 = (4)2

4+ % i2(::)(§)) - 16
;) +2 =16

=

=

L
b

=

= (z2 +

P — p—

;) =16-2

,)—_14

Therefore, the value of x3+;l-,- is 14

(::2+ ;';) = 14

Squaring both the sides :
r (z" + < 1-2(:2)(;';)) = (14)*

8 |-

LA

Therefore, the value of x* + -:L is 194

SOLUTIONS 12




Answer:

(:') (z: g) - B

~» Squaring both the sides :
> (z-1)"= @
- (:.':2 b 2(:)(-;-)) 25
> (1:2 } ﬁ) 2 =25
ﬁ(xhg):asm
s (z"'+ ﬁ) = 27

.

Therefore, the value of (32 + ;) is 27.

(12 4 :—‘,) = 27
—» Squaring both the sides:
= (:::" - z—" —2(32)(3—',)) = (27)°
= (z' + %) -2 =720
(= + %)
> (=* 4 ﬁ) — 720+2
=(z*+ L) =731
(= + %)
Therefore, the value of (.1:" + ﬁ) is 731.
SOLUTIONS 13




Answer :

(i) (z + 1)(z — 1)(z* + 1)

= (z*-z+2-1)(2* +1)

= (22 -1)(z? +1)

= (12)2 (12)2 [according to the formula a® —b° — (a +b)(a b)]

=24 -1,
Therefore, the product of (z + 1)(z — 1)(z* + 1) is * — 1.

(ii) (z — 3)(z + 3)(z* +9)

= ((’-’)2 = (3)2) (z* +9) [according to the formula > — b* — (a+b)(a - b)]
> (a* - 9)(a +9)

= (z?)* - (9)* [acoording to the formula a® — b = (a+b)(a - b]]

= z' - 81
Therefore, the product of (z — 3)(z + 3)(z” +9) is z* - 81.

(iii) (3z — 2y)(3z + 2y) (92 + 4¥°)

> ((3:)2 - [2y)2) (927 + 4y%)

[accordlng to the formula a®> b — (a+b)(a b)]

> (927 — 4y%) (927 + 4¢°)

> (9:::2)2 - (41;")2 [according to the formula a®> — b — (a+b)(a - b)]

= 81z* — 16¢.
Therefore, the product of (3z — 2y)(3z + 2y) (92" + 4y*) is 81z* — 16y".

(iv) (2p + 3)(2p - 3)(4p* + 9)

= (@p) - 3)?) (4 +9) [accordlng to the formula a®> — ¥ — (a +b)(a b)]
> (49 - 9) (4% +9)

= (497)* - (9)* [accordl.ng to the formula a® — b — (a + b)(a b)]

= 16p* — 81.
Therefore, the product of (2p + 3)(2p — 3)(4p” +9) is 16p* — 81.

SOLUTIONS 14




Answer :

z+y = 12

On squaring both the sides :
= (z+y)’ = (12)°

2>z +y* +2zy = 144
=>z2+y? = 144 — 22y
Given :

Ty = 14

=22 +y* = 144 — 2(14)

= 1:2+y2 = 144 — 28

=22 +y* = 116

Therefore, the value of z? + y* is 116.

SOLUTIONS 15
Answer :

z-y=17
=» On squaring both the sides :
= (z-y)’ = (7)
>z +y* —2zy = 49
s+ = 49 + 22y
Given :
zy =9
=z +y* = 49 + 2(9)
224y =49 + 18
> 22 + 2 67.
Therefore, the value of z? | y* is 67.




